
cod. DV4

Ducati Panigale V4/V4S/V4R 
brake side_lato freno

8,48 Nm*M5 TS

14,71 Nm*M6 TS

35,30 Nm*M8 TS

10,30 Nm*M6 TCEI - TB

25,50 Nm*M8 TCEI - TB

M8x50 TCEI
10.9

PG_03

PG00_BK M6x30 TS

M6x16 TS

BC_001
M6x16 TS

M6x12 TS

M6x12 TS
M6 AUT

ø6mmBC_028

M6x40 TCEI

CS_003
ø8mm

M8x16 TCEI

M5x16 TCEI

M8x20 TCEI

M8x20 TCEIM6 AUT

M6x25 TCEI
BT_046

FN_025

M6x25 TB

FN_037

PU_001_BK

PU_004

PU_005

PP_030

BC_029

PS_068

AR_130

OEM exhaust heat 
shield part

ø6mm

M6 AUT

M6x30 TS

PCL2

M6x12 TB

Parts to mount OEM exhaust heat shield
Parti per rimontare il paracalore originale

M6 flangiato

Installation video
https://youtu.be/VpjEX9Zdi6c



cod. DV4

Ducati Panigale V4/V4S/V4R
gear side_lato cambio

8,48 Nm*M5 TS

14,71 Nm*M6 TS

35,30 Nm*M8 TS

10,30 Nm*M6 TCEI - TB

25,50 Nm*M8 TCEI - TB

M8x30 TCEI
10.9

PG00_BK

M6x25 TCEI

AC_032

M6 DX

R021_73

PU_005

M6x30 TS
M6x16 TS

M8x16 TCEI

BC_030R M8x25 TCEI

M5x12 TS

M5x12 TS

BT_045PS_069

CS_003

M8x20 TCEI

M8x20 TCEI

AR_129

M6 SX

M6x16 TCEI

After adjust the position of gear lever must check if it can 
touch the fairing during the use.
Dopo aver regolato la posizione della leva cambio occorre 
verificare che non tocchi la carena durante l’uso.

PG_04

RH01_SX

LC_041

AC01_DX

PU_004
PU_001_BK

SP6_F6D13

Installation video
https://youtu.be/VpjEX9Zdi6c


	DV4_DX
	DV4_SX

